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QUESTION 1

What would a developer write to manage the lifecycle of an application in an IBM Cloud OpensShift cluster?
A. An operator

B. A private registry

C. Ajunction

D. A docker instance

Correct Answer: B

QUESTION 2

While building a chatbot with Watson Assistant, a developer wants to expand the dialog skill to avoid showing the
message ":1 \\'m sorry, \\'m arraid | can\\'t do that.” to the user. What solutions can the developer use?

A. The developer should completely change the Intent to allow the Watson Dialog Skill to recognize a wider dialog flow

B. The developer can add a Watson Studio capability to analyze, cleanse and shape data and train machine learning
models to enhance the Dialog Skill

C. The developer can add a Search Skill to route complex customer inquiries to the IBM Watson Discovery service to
treat the user input as a search query

D. The developer should use the Watson OpenScale add-on to route inquiries to treat the user input as a search query

Correct Answer: D

QUESTION 3

Which API method is provided by Db2 on Cloud?
A. POST/auth/tokens

B. GET/db2__settings

C. POST /sqgl_query

D. DELETE /sqljobs

Correct Answer: A

QUESTION 4

Which two of the following are benefits of a Content Delivery Network (CDN)?
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A. Connects high speed direct links between your account and theirs to provide reliable low latency connections

B. Mitigates distributed denial of service (DDoS) attacks, man-in-the-middle attacks, and other common attacks on web
sites

C. Copies web sites to a central location to deliver fast responses to improve customer satisfaction
D. Provides infrastructure and bandwidth in planned remote locations at a predefined hourly rate
E. Decreases impacts to website performance by reducing the effects of spikes or surges in demand

Correct Answer: AB

QUESTION 5

What kind of jobs can be created in a Delivery Pipeline stage?
A. Develop, Delivery, and Test

B. Build, Deploy, and Test

C. Build, Install, and Verify

D. Build. Delivery, and Test

Correct Answer: B
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